Barbara Loester, English Syntax and Morphology Learning Activity
The following screenshots are intended to give an idea of the nature of the resource, whose file format cannot be viewed until downloaded and imported into the Moodle “Quiz” application.
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11 Read the text passage (adapted from U. Eco Foucault’s Pendulum) and answer the questions below. Please count all occurrences
varks: -ja©Of the lexical categories asked for. If the same noun tums up twice, for example, then count it as two occurrences.

He picked us up by car and drove out through the favelas beyond the hill. The building where we stopped had a humble look, like
a big garage, but on the threshold an old black man met us and purified us with a fumigant. We saw a bare little garden with an
immense corbeil of leaves, on which some tribal delicacies lay.

How many prepositions can you find in the passage? Choose.. ¥
How many personal pronouns can you find? Choose... v
How many verbs can you find in the passage? Choose.. ¥

How many nouns can you find in the excerpt? Do NOT include pronouns!

12w Identify the lexical cate s of the BOLD ITALICISED words in the sentence below.
Use the following abbreviations:
Marks: --/5 N oun

erb

For example: N V Adj N
Please make sure that you have a space between the categories!

Nobody really knows what normal reading is.

Answer:
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10« Have a look at the tree below and decide what label you should give to 1 and 2. What kind of morphological element are they?

Marks: --/6
unorderly
adverb
un- orderly
1 adverb
order -ly
verb 2

Number 1 is bound.
Number 1 is free.

Number 2 is a prefix.

Number 2 is an inflectional morpheme.

Number 2 is free.
Number 2 is bound.
Number 2 is a suffix.
Number 1 is a suffix.

Number 2 is a derivational morpheme.

Number 1 is a derivational morpheme.

Choose.

Choose.

Choose.

Choose.

Choose.

Done
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